Fetch-Decode-Execute-Reset Cycle Exam Questions Mark Scheme

1. - Contents of PC copied into MAR/address of instruction in MAR

- Contents copied from address into MDR/instruction held in MAR

- Contents of MDR copied into CIR/instruction is put in CIR

- Contents of CIR decoded

- The number/25 from CIR copied into MDR

- Contents of MDR copied into accumulator/25 is placed in accumulator

- Incrementing PC at any stage

max 6 
(6)

Total = 6 marks
2. -Address of instruction in PC…

-is copied to MAR

-PC is incremented

-Contents of address in MAR…

-copied to MDR

-(Contents of MDR) copied to CIR

-Decode instruction in CIR

-Load address (300) in CIR into PC

(1 per -, max 7) 
(7)
3. - value in PC is…

- copied into MAR

- value in PC is incremented

- data in the address referred to in MAR is…

- copied into MDR

- data in MDR is copied into CIR

- contents in CIR are split into operation code and address

- operation code is decoded as unconditional jump

- value in address part of instruction is copied into PC

- reset restarts the cycle.

(1 per -, max 7) 
[7]
4. - Value in PC placed in MAR

- PC incremented (anywhere)

- Contents of address in MAR placed in MDR

- Contents of MDR placed in CIR

- Op code in CIR is decoded

- Address is copied from CIR to MAR

- Contents of address in MAR placed in MDR/sent to accumulator

- Contents of MDR sent to accumulator

- Registers reset ready for next instruction

(1 per -, max 7)

(7)
5. -P.C. is incremented…

-as part of the fetch execute cycle.

-P.C. is altered to the value being held in the address part of the instruction…

-When the instruction is one that alters the normal sequence of instructions in the program.
-This second type of command involves the P.C. being reset twice in the same cycle.
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